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B. Com. (Sem. I) (CBCS) Examination
November / December - 2018
Business Mathematics - I

(New Course)
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ENGLISH VERSION

Instruction : Marks are indicated on right side.
1 (a) State the D’Morgans law and prove by using 10
examples.

b)) If AZ{X/XENax3—2’325},B:{y/yeN,l<y<5}, 10

C= {Z/Z € N,24 = 81} then find the following results.

1) AuBnNn0O)
(2) (AUB)N(AUCO)
OR

1 (a) Give the definition with example. 10
(1) Universal set
(2) Sub set
(3) Null set
(4) Difference of sets

(5) Intersection of sets.

®) If U ={1,2,3,4,56,7,8,9,10}, A = {1,3,4,5,7} and 10
B = {1,4,7,10} find

@) (A-B)~(B-A)

(i) (4B
n 1 1
2 (a) Prove that E:(n—l)!+(n—2)! 10
(b) How many different words using all the letters of 10

the word RIDHAM can be formed ? How many of
them (1) begin with R (2) begin with R and end

with M. (3) Vowels are always together.
OR
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Find the value of n and r.

n . n . hn -n.7-.
C,_y:"C,:"C,  =2:3:4

A bag contains 4 white, 3 green and 2 red balls.

How many selections for 3 balls can be made such
that in the selection (1) two balls are of the same
colour and one ball of different colour (2) One ball
of each colour (3) three balls of the same colour.

Find the value of

(V3 +1) ~(v3-1)

If the constant term in the expansion of [\/_

is 405 find the value of K.
OR

Obtain the coefficient of x8 in the expansion

Of (2x2_Lj14
3x

Find the middle term in the expansion
of (1+3x+3x2 + x3)4.

Give the assumptions of interpolation and

extrapolation.

Estimate the missing values by using proper

method of interpolation.
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OR

Lagrange’s Formula.
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From the following table obtain the value of F(O) using
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